A _ ‘ | ECOA (HN)-03
s West Bengal State University |
B.A.J B.Bc./B.Com | Honpurs, Major, General ) Examinations, 2014
| | ‘  PART-1

ECONOMICS — HONOURS
~ Paper -1l
{ NEW & OLD SYLLABUS }
Duration : 4 Hoﬁrsl | - : | _ . { Fuli Marks : 100

~ Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Use separate answer script for each group.

' GROUP - A
feer.s

(Marks : 50)

1. . Answer any three questions : o - - 3x4=12
- oS @ Tom e 5 | '

a}  Mention different measures of monopoly power.

LI AR wHOR AR G OBl Rge T |
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b) Expl-ain with -example how one would calculate the value of information

under uncertainty.

ufFrBIeR We SNA /[ e e e T g SRRe ARl QR |

"¢}  Why is demand for inputs called derived demand ?
. BeoIMeTd ST oifEe Sy piE 96T (T 2
d} Stat‘c the cénditions for s‘uccess of a Cartel.
- CeII RO AT S 1o e )
e} - What is meant by 'exferhality in c;msumption ? Give example.

- (OIS (H0E A% Ao SHIRET REEI AN T2 |

2. Answer any one question : 1 x8=8§

(T Q0 A1 boa e ¢

- a}  Why there exist no market sup;ﬁly curve under monopoly ?

QB PTG A CTMAEA QT AN (I AN FFA |

b)  Show that the Lerner index of monopoly power enjoved by a seller who is a
monopolist in domestic market and perfect competiter in foreign market can
be expressed as —

Domestic price — Foreign price
Domestic price

Wmmmﬁ@mﬁﬁ@m@ﬁhmawﬁmmmewmm
ol afsN, Lerner mdexGFP]TﬁTW b e FEERoem e w1

WY —
“Shofdid WY - ﬁq«@mﬁ s
LGN LR
<) Using Prisoner’s Dilemma explain Cartel instability.

Prisoner’s Dilemma-9% 2t Cartel- 9% Sl AN IR )
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3. Answer any two questions : 2x15=30

- WY oree Beg fim

a)

b)

i)

i)

What are the prime characteristics of a monopolistic competitive

market ?

9Foha efsmferps qems @ R Eefk & 2

Monopolistic competitive market is similar to competition in some
respects, but is it an efficient markt-:t ?

9% @R e o Ffonfoe aEEs R By PN =W Iw fag afbta
7o) & edis 2

Is monopolistic competition socially undesirable market structure that
should be regulated ? 5+5+5
@Il ofsmmfionpe IeR & Imfssers W a1 9 «F fFHwEw

TANT ?

Explain the concepts of monopolistic and monopsonistic exploitation of

labour. Can labour union always eliminate such exploitation ? 8+7
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¢}  “Pareto optimality is a necessary but not a sufﬁcient condition for welfare

maximisation.” Explain. . 15

‘mﬁﬁﬁmWmWWWWWmWHWﬁﬁﬁWﬁN%ﬁ@W@W|
1T 7 |

d i Describe with an examplc,_hdw a _r_iék avei's_e 'pefsoﬁ can rediice risk by
insurance. '

@mwwwmwmﬁmwmwﬁﬁww%%wwmmmw&w
TS A |

i)y Explain how the insurance companies maintain economic viability by

operating on large scale based on the law of large numbers’. 8+7
A ool Rrem i wAE e %&‘ﬁﬁﬁﬂfﬂ—mﬁm_
.mmhﬁﬁwmww
GROUP - B
Tt
| Marks : 80 )
1.  Answer any three questions: o '_ o 3x4=12

wwm%ﬁmw@w%ﬁ

a.‘] What is meant by agg-reg.ate.dgmand éxternality ?
TP BIRATR AR FF TE 2

bl What is hysteresis ? What gré the different explanations of hystereéis ?
Hystefesis e B @WW ? Hystére_sié-@ To ffem e anan W TN ?
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c}

Lo

4
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How does the open mafkét bpér'ﬁtion by central bank affect money su‘pp]y_ ?

' cﬁuwsmmwwﬁ@mwﬂmﬂmﬂmwm@m9

'What is the dlfference betwcen adaptwe expectation and rational

expectat:on ? Explmn wlth examplc

'ww%awn*nmaqﬁr«rﬁawsmonﬁﬁ% Wmawanﬂnw |

Under what condluons dlsmﬂatlon can be pamlesa ?

s Fos e S{ﬂma—ﬂﬁf‘*ﬂwﬁﬁﬁw

“Higher expected. monoy growth in the future lcads to a hlgher pru:c level
today.” stammc the vahd:ty of thm statemenl '

vﬁwmmﬁﬁqﬁmmmm l” atﬁ;ﬁ;ﬁawwﬁm

ComER |

2.  Answer any one questmn S . _ 1x8=8

m@ﬁmwmﬁa

a)

b},

Show that in the -ab_scn_c,e_ ‘of supply shock -26w'er.ixl1g inflation requires a
period of unemplqﬁrmént'gre_atef than the natural rate of unemployment and

output level less than the natural rate of output level.

_mwmﬂﬁmwwﬁvﬁmqumﬁfwmwcwwm

A RS AP Gﬂt Z@ @32 ‘F&W & ar-rﬁw AT BT CUlT oW 879 |

How do the Rcal Busmess cycle theones explain the effects of fiscal shoeck

and technological shock ?
w‘mﬁmwwwmﬁwwﬁmeﬁwﬁmmmmw

A |

Explain how co-ordination failure may lead to recession.

A0S kel RIS S R A0S T O T R |
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3.  Answer any fwo of the follo;ving : : 2x15=230

CA-Car BTG erea Ty e e

a) Shoﬁr thg_t business fixed investment _depcnds on marginal product of
capital, the cost _olf capital and the am;unt .of depreciatibn. In this respect do
you think .that the interest rate has any role in the‘ detérrﬁination of
investment ? Justify your answer, : ' 12+ 3
o (1 afefene fam RNt speen oifus Sesim, Joraeva a0 @9 SIRET SO
Fiéa s 1 a2 Wmﬁwwﬁ%ﬂmwwﬁrﬁmm sifgaer e o

B (AT Gl ey 7 e SwEd Foies e g |

b)  What are the costs of expected and ﬁﬁexpected inflation ? Do you think that
an unexpected inflation has greafer impact thaﬁ expecled inflation on
economy ? . 10+5
A e e R
To ereire ErRIiey wemre wersi e urdifies ool (@) 7

c) Discuss how a risk-averting investor diversifies his / her financial portfdlio
between risky asset and money holding.
Jie-altmgs RianaeRt o Axg e woee feo Fieed i ¢ Jom Y 64

@ B A T |
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Q} Explain fhe Sticky-wage model and Imperfect Information madel of aggregate
supply. What are the differences between these two models ? 6+6+3
i ca1et TotfRéS e e PR o ale wqmwwﬁ@wéﬁw "
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West Bengal State University
B.A. IB 8c./B.Com. ( Honours, Major, General ) Examinations, 2014

PART - II
ECONOMICS — HONOURS
| Paper - IV

(New & Old Syllabus) |
Duration : 4 Hours } ' [ Full Marks : 100

The figures in the margin indicate full marks.
ATY NS i omee)
GROUP - A
Aot - =
1. Answer any three questions (within' 100 words;) : : 3x4=12

CA-CFIA Toall e T8 (Yoo g s fae ¢

_a) Explain the concepts of ‘Linkage effects’.
- AT TR TTA YN AN |
bj Define economic development in terms of capability.
o TR (fS wdtAiee Saney s
‘ ) What is environmental Kuznet'’s curve ?
- SIS S (U T IET 2 _
d) Point out the indivisibilities in ‘Big push’ theory.
qae giEt oY wReeree Ao ww)
e) What is Gender related development index ?
Prfofes Tae 59 o 2
2. Answer any one question : 1x8 =8
& @ qafY oreg Yea e ¢ '
a) Do you think that Human Development Index is a qualitatively different
e .measure compared to other income based measures of development ?
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Wﬁﬁﬁwwmmﬁwmw@mwwmww
- fomer Saw “faers ¢

b) | Is capital : output ratio a useful _concept in development planning ?
~ Discuss.

TN SAfGFEAT P Wwwmmﬁaaﬁwmmmwv

— A T )
~¢)  Discuss the role of capital in econormic development of & country.
@3fs oo TR CRTE JerueTR SR S T |
3. Answer any two questions : 2x15=30

@ W #f% oo Tey fint ¢

a} Critically examine Rostow’s preconditions for “take off” in the perspective

\ of development experience of various less developed countries, How do

Rostow’s stages differ from those of Marx ?
rfen Fwas oo Saww wivwor sifarefere Ew Tueaw wda” o WoRaA
TR FANETRS Qs e | ﬁwm@mmwmmmﬁm
HARA HNYAF (PN 2

"b) Discuss the role of environment in case of sustainable economic
development.

¢) Distinguish between relative and absolute poverty. Discuss Amartya
Sen’s measure of poverty. 5+10
FHRETS @ GAN AT S o1 o %A1 el wnfer G e
- oifgel R s Tw

d) “Workers base their migration decision on their expected income.’ -

Explain this proposition with the help of a suitable model. Suggest some
policy measures to restrict such rural-urban migration in this context.
i0+5

aﬁm@mﬂ@mw%ﬁmmﬁmmwn — &3l e
Wmmawrmmwmswmmmmqﬁﬁmw
Wﬁgﬁ\%ﬁ&ﬂwx
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GROUP - B
| et - 9
4, Answer any three questions (within 100 words) : ' 3x4=12

(AT oAb 2R B9T (Yoo *I(ad Wy W ¢

a) Distinéuish between static and dynamic gains from international trade.
g T S g SN TGN Ty S B
b} What is import substitution ?
¥ ST AR B A 2
c) Define Tariff and Quota. ' :
F @ (1A Sge fiey)
- d) What is infant industry argument for protection ?
Frg forst steacsra s fip 2 |
~ e} Explain the concept of unequal exchange.
T e arReli i e |
5. Answer ény one question : 1x8=8
@ (P QTS wraa San i g
a) Critically evaluate the role of Foreign Direct Investment (FDI) in economic

development of less developed countries (LDCs).
HEES (el e SANE @R derE R (FDI)-93 YRR
FAEAGHETE YT F | '

b} Critically analyse the provisions of World Trade Organisation (W. T 0.)

from the view point of the development of agricultural sector in less
developed countries.

Wmﬁ@%ﬁqﬁmﬂ@"ﬂm qﬁmq e FerfieT weR A W.T.0.«69
AR TR et 367 |

c) Why is there a historic tendency for the terms of trade to move against
the countries producing prlmary products ?

e oy Gesirerer oriefa aifee e e s wa Sfexif3re ererem
FR TG 4 | '
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6. Answer any fivo questions : : 2x15=30 "
T (oW %o @it Teq i
a) Critically discuss Paul Baran’s and A.G. Frank’s dependency theories.

b

4

o A9 ¢ @ . TiE WETTierorn Sga SNIETHIINER eS| 4 |

Discuss the relevance of planning in the context of liberalization in
developing countries. Explain also the concept of decentralised planning.

i oo (WS S weifers eI e S Rl
RS ofgesg g anm )

Do you believe that International trade acts as an ‘engine of growth’ for
less developed countries ?

e & e FET @ Twws oriefite arieifer afer <R g

B Pt B 2

What are the salient features of Multinational Corporations (MNCs} ? In
this context critically examine the role of foreign multinational

‘corporations in fostering the process of economic development of less
" development countries. ' '

Teeiies T AemeRE eweed WSt fryr o WWW
AR FEWS (erof StAfor TANET (7 GRS S S TIEIETe
) -
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